YHAKIO

HAIKKOFR-802

SMD 2|93 AHo|M
A
B2 . ®HY

1. 7% 2|2E (AH0|H)

2. F=E[AE (

o A g, A
L M3 x 6 (47H)

kA
Al 23 (17H)

? }f ?}:%54 (37)
e

Item No. | Part No. Part Name Specifications
® B3442 | Handpiece holder
@ B3378 | P.W.B./for temperature control 100~120V, with triac
B3379 P.W.B./for temperature control 220~240V, with triac
©) B1028 | Knob With screw
B1084 | Power switch
® B2468 Fuse/125V-5A 100~120V
B1258 | Fuse/250V-3.15A (S) 220~240V
® B2419 | Power cord, 3 wired cord & American plug | U.S.A.
B2421 | Power cord, 3 wired cord but no plug
B2422 | Power cord, 3 wired cord & BS plug India
B2424 | Power cord, 3 wired cord& European plug | 220V KTL, 230V CE
B2425 | Power cord, 3 wired cord & BS plug 230V CE U.K.
B2426 | Power cord, 3 wired cord & Australian plug
B2436 | Power cord, 3 wired cord & Chinese plug | China
B3508 | Power cord, 3 wired cord & American plug
@ B2972 | Control card
©® Optional Parts
Item No.| Part No. Part Name Specifications
® B1438 | FP pick-up With 1pc. of pick-up wire (S) &(L)
@ B1439 | FP pick-up wire (S)
® B1440 | FP pick-up wire (L)

YHAKIO

HAKKO CORPORATION

HEAD OFFICE
TEL:+81-6-6561-3225 FAX:+81-6-6561-8466
http://Awww.hakko.com E-mail:sales@hakko.com

OVERSEAS AFFILIATES

U.S.A.: AMERICAN HAKKO PRODUCTS, INC.
TEL: (661) 294-0090 FAX: (661) 294-0096

Toll Free (800)88-HAKKO
htp://www.hakkouisa.com

HONG KONG: HAKKO DEVELOPMENT CO., LTD.
TEL: 2811-5588 FAX: 2590-0217
http:/Awww.hakko.com.hk
E-mail:info@hakko.com.hk

SINGAPORE: HAKKO PRODUCTS PTE., LTD.
TEL: 6748-2277 FAX: 6744-0033
http:/Awww.hakko.com.sg
E-mail:sales@hakko.com.sg

Please access to the following address for the other Sales affiliates.
http://www.hakko.com/address
Copyright © 2009 HAKKO Corporation. All Rights Reserved.

T~

)2 A

by

A2 JA} AZE) ) 9pA)
M4 x6 (271)

D Pt
NI e
M3x8 (170)

F0xES
TEL : 080-335-8788

http : www.mjsoltech.co.kr
E-mail : mjsoltech@mjsoltech.co.kr

2009.9
MAO01373JZ090911

M4 x5 (1271))

93 ke, Aol 7]

[=]
A Sel 94 A% WE
FE oL

Item No. [ Part No. Part Name Specifications ;H}?]‘fgii‘b 37)
@ B3010 | Handle With screws
@ A1523 | Heating element 100 - 120V
A1524 | Heating element 220 - 240V
3 B3009 | Mica pipe B
@ B2995 | Quartz glass pipe For support heating element
® B3008 | Mica pipe A
® B3095 | Pipe
@ B3014 | Cord assembly With silicone tube
® B1188 | Silicone hose
O] B3011 | P.W.B./for handle

2. RAE/ HAYH

o 3lgf - MM 22

Adstey wt=A] dAS 2
L.

whels al71e] =Alol] weba A el

(L91)

REEE

43¢ - AA AYEHE wojla, 3B & oy

o AAAE 009U

2. A E 9] EAR(b) 3Bl o] AR5 54 T
o}, AAAE 9k 330 (+10%)(100_120V)
EE 850 (£10%)(220_240V)UUTH. (&
Ay A=A 7L o] 3l B, HES uds F

H
(@Y e RBTE BY AN S P2

A 3
o WP e FEFmdA dedZeae wEA Bol FHA . A2 27 dFU
® HAALAXE HojT SEEX| gfert el =
x| @ =7
=9l
old
® MM of2] 7t Egstct BBl 0xE oA A a5Un?
O : ALY gade] 2APEY S Bol FAHAN L AGFA 7L ol A S, BF
< w2
® 3| of|2f 7} Mesict, HAE U7
CHA FAE % FUch FAAE < 33Q(£10%)(100-
120V) ¥ 859 (£10%)(220-240V)4U Tt (F2A)) A g
7F 0139 A, BES agtd FAA L.

N

LA
=]

. —
N QFP SOP PLCC SOJ BGA(CSP) ——C
——
F/AbFe] Atol ==, ICH 7] 4] A o] wz
o 2718 ¥4 st dFUTh B A vz 2%
)
= = —"-D
Unit: mm
A1124B Single 02.5 A1125B QFP 10 x 10 A1126B QFP 14 x 14 C0.8 C1.0(0.04) | C0.8 (0.03)
(0.09) (0.39 % 0.39) (0.55 x 0.55) D18 D2.0 (0.08) | D2.0 (0.08)
§ A1125B~A1129B A1191 A1192
(;) [ee A1131~A1141B
= No.
-] A1180B~A1189
A1203B~A1265BB

(0.39)
A1127B QFP 17.5x17.5  A1128B QFP 14 x 20 A1129BQFP 28x28  A1130 Single 04.4 A1131 SOP 4.4 x 10
(0.68 x 0.68) (0.55 x 0.78) (1.1x1.1) (0.17) (0.17 x 0.39)
g 3
® Q= ..o S
5 . 5 - A:29.7 (1.17) ‘(304'147§I'D)
< : B:29.7 (1.17 . 8 (0.
(0.75) {0.83) 29 (1.14) (.17) 48(019)
A1132 SOP 5.6 x 13 A1133 SOP 7.5 x 15 A1134 SOP 7.5 x 18 A1135B PLCC 17.5x17.5 A1136B PLCC 20 x 20
(0.22x 0.51) (0.3 % 0.59) (0.3%0.7) (0.68 x 0.68) (0.78 x 0.78)
~ _ (44 Pins) (52 Pins)
3 3 % _
©o ©g o Q2
e - s s
A:18.5 (0.73) (0.83)
B:18.5 (0.73) o1 {0,
5.7 (0.22) 7.2(0.28) 72(0.28) 15 (0.59) 19 0.75) B:21 (0.83)
A1137BPLCC 25x25  A1138BPLCC30x30  A1139BPLCC 125x7.3 A1140BPLCC 115x115 A1141BPLCC 11.5x 14
(0.98 x 0.98) (1.18 % 1.18) (0.49 x 0.29) (0.45 % 0.45) (0.45 x 0.55)
(68 Pins) (84 Pins) (18 Pins) (28 Pins)
3 s =N\ o8
Dml Je ® &< ‘GGBI@Q’
=
= A: 9(0.35) (0.59)
S~—1 A26(1.02) A1 (1.22) 6.9  B'14(0.55) ggg]{ B13 (0.51)
24 (0.94) B:26(1.02) 29 (1.14) B:31(1.22) (0.27) 10 (0.39) : 10 (0.39)
A1142B Bent Single A1180B BQFP 17x17  A1181BBQFP 19x19  A1182BBQFP 24x24  A1183 SOJ 15x8

5x (0.67 % 0.67)

15x3
Eu (0.06 x 0.12)
N
N2 )
N2
S
N ) :18.2 (0.72)
93 (L\Q- 136 B182(0.72)
‘b@’) (0.54)

A1185B TSOL 13 x 10

13.6
(0.54)

o>
o o
NN

A1184B SOJ 18 x 8

A1186B TSOL 18 x 10

(0.75 x 0.75)

(0.94 x 0.94)

A1187B TSOL 18.5 x 8

(0.59 x 0.31)

(0.31)

A1188B PLCC9x9

(0.71x0.31) (051 x0.39) (0.71x 0.39) (0.73x0.31) (0.35 x 0.35)
. . (20 Pins)
10 & )
~ (=} ]
@ g
e[ Tl=s o) 122 [ el]lee
10 (0.39) 11.9(0.47) 18.2 (0.72) 18.5 (0.73)
A1189B PLCC 34 x 34 A1190 Dual Single A1191 A1192
(1.34 x 1.34) 25x95 SIP 25L (0.98) SIP 50L (1.97)
(100 Pins) Pitch (0.09 x 0.37)
oS (\ 2 2
() E
ol ©® © bt
. Nt o
A385 g.ﬁ; 02.5 (1.D) N
] 5 (1. 0.09
33.5(1.32) ©0.09) 26(1.02) 525 (2.07)
A1203B QFP 35 x 35 A1214BSOJ10x26  A1215B QFP 42.5 x 42.5 A1257B SOP 11x21  A1258B SOP 7.6 x 12.7
(1.38 x 1.38) (0.39 % 1.02) (1.67 x 1.67) (0.43 x 0.83) (0.3%0.5)
< N _
S S )
= (- TE G
o b p
9 S 8
5250139 T pd25(167) 117(046)
35.2 (1.39) 40 (1.57) B:425(1.67)
A1259B SOP 13x28  A1260BSOP86x18  A1261BQFP20x20  A1262BQFP 12x12  A1263B QFP 28 x 40
(051x 1.1) (0.34 x0.71) (0.78 % 0.78) (0.47 x 0.47) (1.1 %1.57)
g 8 g
Wk e T
Q - & Q
A:20.2 (0.8)
13.5 (0.53) 8.7 (0.34) B:20.2 (0.8 I~——— A:27.7 (1.09)
21 (0.83) (08) 39 (1.54) B139.7 (1.56)
A1264B QFP 40 x 40 A1265B QFP 32 x 32 A1325 Dual Single 01.5 x 5-10
(1.57x157) (1.26 x 1.26) (0.06 x 0.2-0.39) Adjustable Pitch
— PN O 10
53 &
. @O 5
[} @
A40.2 (1.58) ] agsezq2n
50 (159 B402(158) a1 (122) B822(1-27) oo naies 015 (L)
5 (0_2)5 adjustable. 10 (0.39) (0.06)
A1470 A1471 A1472 A1473 A1474
BGA8x8 BGA 12 x 12 BGA 13 x 13 BGA 15 x 15 BGA 18 x 18
— = o & o
—\__ Db ) 3 Q ~
(HAE ‘ ‘ )) 13 03d | S ocol |e
o e < o © O o
9 (0.35) 13(051) 14 (0.55) 16 (0.63) 19 (0.75)
A1475 A1476 A1477 A1478
BGA 27 x 27 BGA 35 x 35 BGA 38 x 38 BGA 40 x 40
S o <3 =
- < wn ©o
080 = 030 = o0 = 030 -
¢ © © © © @ © -
o (o] (] <
28 (1.10) 36 (1.42) 39 (1.54) 41 (1.61)




